Fourier Analysis 
$$2024/01/30$$
  
1. Review.  
Recall that a good kernel means a sequence  $(K_n)_{n=1}^{10}$   
of integrable functions on the circle satisfying  
 $D = \frac{1}{2\pi} \int_{-\pi}^{\pi} K_n(\omega) dx = 1;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such that  $\int_{-\pi}^{\pi} |K_n(\omega)| dx \le M;$   
 $P = M > 0$  such the circle. Then  $K_n \# f(\alpha) \longrightarrow f(\alpha)$  if  $f$  is ds at  $\alpha$ .  
 $P = P = M = 0$  for  $M = 0$  or  $M = 0$  or  $M = 0$ .  
 $K_n \# f(\alpha) \implies F(\alpha) = M = 0$  or  $M = 0$  or  $M = 0$ .

Example 1. (Fejer's Kernel)  
For 
$$N \in \mathbb{N}$$
, set  

$$F_{N}(x) = \frac{Sin^{2}(\frac{N}{2}x)}{N Sin^{2}(\frac{X}{2})}$$

$$= \frac{D_{0}(x) + \dots + D_{N-1}(x)}{N} \left( \frac{\text{Readl}}{D_{n}(x)} = \frac{n}{k^{2} - n} e^{ikx} \right)$$

$$= \sum_{n=-N}^{N} \left( i - \frac{(n)}{N} \right) e^{inx}$$
We call  $F_{N}$  the N-th Fejer's kernel.  
Corollary (Fejer's thm)  
Let f be integrable on the circle, then  

$$F_{N} * f(x) \longrightarrow f(x) \quad if f is cts$$

$$If f is cts on the circle, then
F_{N} * f \Rightarrow f on the circle.$$

Recall that  

$$F_{N}(x) = \sum_{n=-N}^{N} (1 - \frac{(n)}{N}) e^{inx}$$
So  

$$F_{N} * f(x) = \sum_{h=-N}^{N} (1 - \frac{(n)}{N}) \cdot \hat{f}(n) e^{inx}$$
We also write  

$$S_{N}f(x) := F_{N} * \hat{f}(x)$$
(we call it the N-th Cesáro mean of the Fourier Series  
of f).

Corollary 1: Let 
$$f$$
 be cts on  $[-\pi, \pi]$  with  $f(\pi) = f(-\pi)$ .  
Then  $\forall \epsilon > 0$ ,  $\exists$  a trigonometric poly  $P(x)$  such that  
 $| f(x) - P(x) | < \epsilon$  for all  $x \in [-\pi, \pi]$   
Pf. Since  $f$  is cts on the circle,  
 $S_N f \Rightarrow f$  on the circle,  
A triogometric poly

(uniqueness Thm for Fourier Series)  
Corollary 2. Suppose 
$$f$$
 is cts on the circle such that  
 $\hat{f}(n) \equiv 0$  for  $n \in \mathbb{Z}$ . Then  $f \equiv 0$ .  
Pf. Since  $\hat{f}(n) \equiv 0$  for  $n \in \mathbb{Z}$ ,  
 $\partial_N f(x) = \sum_{n=-N}^{N} (1 - \frac{\ln n}{N}) \hat{f}(n) e^{inx}$   
 $= 0$  for all  $N \in IN$ .  
But by Fejer's Thm  
 $\partial_N f \Rightarrow f$  as  $N \rightarrow \infty$   
which implies  $f \equiv 0$ .  
Similarly, we can define "good kernel" for  
a family of integrable functions

$$(K_t)_{t \in (a,b)}$$
  
as  $t \rightarrow t_0$ . More precisely,  $(K_t)_{t \in (a,b)}$  is said to

be a good Remel on the circle as 
$$t \rightarrow t_0$$
 if  

$$\begin{array}{c} \begin{array}{c} & \pm \\ & & \\ & \\ \end{array} \end{array} \xrightarrow{T} \\ & \\ \end{array} \xrightarrow{T} \\ \xrightarrow{T} \\ \xrightarrow{T} \\ \xrightarrow{T} \\ \end{array} \xrightarrow{T} \\ & \\ \end{array} \xrightarrow{T} \\ \xrightarrow{T} \\$$

Check:  

$$f * g_{t}(x) = \frac{1}{2\pi} \int_{-\pi}^{\pi} g_{t}(y) f(x-y) dy$$

$$= \frac{1}{2\pi} \int_{-t}^{t} \frac{\pi}{t} \cdot f(x-y) dy$$

$$= \frac{1}{2t} \int_{-t}^{t} f(x-y) dy$$
Example 3 ( Poisson Kernel on the circle).  
For  $r \in (0, 1)$ , define  

$$P_{r}(x) = \sum_{n=-\infty}^{\infty} r^{(n)} e^{inx}.$$
We call  $(P_{r})_{r \in (0, 1)}$  the Poisson kernel on the  
circle as  $r \ge 1$ .

Lem 3. For 
$$r \in (0,1)$$
  

$$P_{r}(x) = \frac{1 - r^{2}}{1 - 2r\cos x + r^{2}}$$



$$= (+ \frac{re^{ix} - r^{2} + re^{ix} - r^{2}}{1 - re^{ix} - re^{ix} + r^{2}}$$

$$= (+ \frac{2r\cos x - 2r^{2}}{1 - 2r\cos x + r^{2}}$$

$$= \frac{1 - r^{2}}{1 - 2r\cos x + r^{2}} \cdot (\text{Using } e^{-ix} + e^{ix})$$

$$= \frac{1 - r^{2}}{1 - 2r\cos x + r^{2}} \cdot (\text{II})$$

$$1 - 2r\cos x + r^{2} = (1 - r\cos x)^{2} + r^{2}(1 - \cos^{2} x)$$

$$> 0$$
Check: (Poisson kernel is good)
$$\cdot \frac{1}{2\pi} \int_{-\pi}^{\pi} P_{r}(x) dx$$

$$= \frac{1}{2\pi} \int_{-\pi}^{\pi} \sum_{n=-\infty}^{\infty} r^{[n]} e^{inx} dx \quad (*)$$

Since the series converges unif. on the circle,

we have

$$(*) = \sum_{n=-\infty}^{\infty} \frac{1}{2\pi} \int_{-\pi}^{\pi} r^{|n|} e^{inx} dx$$

= |

$$\int_{-\pi}^{\pi} \left( P_{r}(x) \right) dx$$

$$= \int_{-\pi}^{\pi} \rho_r(x) dx = 2\pi$$

· Let 0< 8<17.

$$P_r(x) = \frac{1 - r^2}{1 - 2r\cos x + r^2}$$

$$= \frac{1-r^{2}}{(1-r)^{2}+2r(1-\cos x)}$$
  
If  $S < [x| < T$ , then  $1-\cos x \ge 1-\cos S > 0$   
  
So  $P_{r}(x) \le \frac{1-r^{2}}{2r(1-\cos x)}$   
  
 $\le \frac{1-r^{2}}{2r(1-\cos s)}$ 



Hence 
$$(\Pr)_{r\in(0,1)}$$
 is a good kernel as r>1.  
Now as a direct consequence of the Convergence thm  
for good kennels, we have  
Corollary 4: Let f be integrable on the circle.  
Then  
(1)  $\Pr * f(x) \rightarrow f(x)$  as r>1  
whenever f is cts at x;  
(2) If f is cts on the circle, then  
 $\Pr * f(x) \rightrightarrows f(x)$  on the circle  
(3)  $r \rightarrow 1$ .

Lem 5. Let 
$$f$$
 be integrable on the circle.  
Then  
 $P_r * f(x) = \sum_{n=-\infty}^{\infty} r^{|n|} \hat{f}(n) e^{inx}$   
 $r \in (0, 1)$ .  
Pf. Given  $0 < r < 1$ .  
 $\sum_{n=-\infty}^{\infty} r^{|n|} \hat{f}(n) e^{inx}$   
 $= \sum_{n=-\infty}^{\infty} r^{|n|} \frac{1}{2\pi} \int_{-\pi}^{\pi} f(y) e^{-iny} dy \cdot e^{inx}$   
 $= \sum_{n=-\infty}^{\infty} r^{|n|} \frac{1}{2\pi} \int_{-\pi}^{\pi} f(y) e^{-in(x-y)} dy$   
 $= \sum_{n=-\infty}^{\infty} r^{|n|} \frac{1}{2\pi} \int_{-\pi}^{\pi} f(y) e^{-in(x-y)} dy$   
 $= \frac{1}{2\pi} \int_{-\pi}^{\pi} \sum_{n=-\infty}^{\infty} f(y) r^{|n|} e^{-in(x-y)} dy$   
(Reason:  $\sum_{n=-\infty}^{\infty} f(y) r^{|n|} e^{-in(x-y)}$  converges  $Unif$ .  
on the circle )

$$(P_{r}(y-x) = P_{r}(x-y))$$

$$= \sum_{\pi} \int_{-\pi}^{\pi} f(y) \cdot P_{r}(x-y) dy$$

$$= P_{r} * f(x).$$
We rewrite  $A_{r}f(x) := P_{r} * f(x)$ 
and Call it the Abel mean of the Fourier Series of  $f$ .